


CERTIFICATIONS
Alkota Cleaning Systems Inc.
Alcester, South Dakota 57001

For more information call:
(800) 255-6823 / (605) 934-2222 or
Fax: (800) 325-5682 / (605) 934-1808
Web Access: www.alkota.com

© 2020 Alkota Cleaning Systems 
Specifications subject to change without notice
Printed in U.S.A. / Form #:FWS-2-21

Distributed by:

Dimensions (inches[mm])

Parts List

Item No. Description Qty.

1 Brake kit, 30mm 1

2 SS Swivel 10° offset, M22X1/2NPT-F, 5000 PSI 2

3 Arm kit, Lower 1

4 SS Snap Ring, 16 1

5 Guide, Hose 1

6 Clamp, Hose 1

7 Washer, M6 2

8 Nut, Nylok, M6 2

9 Bushing 2

10 Washer 4

11 Handle Kit, 30 Degrees 1

12 Assy, Flange 1

13 Guard, Hose 1

14 Spring 1

15 Arm Kit, Upper 1

16 Washer, M16 1

17 Washer, 53X23X2 1

18 Fitting, 1/2 NPT-MX 3/8 NPT-F 2

19 Flange Nut, M6, SS 1

20 Label, Caution Surface May be Hot 1


